“Big Business, Industry and Labor Unions” Unit Note Packet (2008-2009)

I.  Three Societal Trends in the Late 19th Century 


A. Identify the three societal trends in the United States that were taking place in the late 19th century.


1. settlement of the West
(W)

2. growth of industry
(I)

3. growth of cities
(C)
II.  Four Causes of Industrial Expansion
A. Identify the four generally accepted causes of industrial expansion in the U.S. and explain how each one 

contributed to the growth of industry. Be very specific.

1. increase in available workers (labor; especially due to immigration)

(L)

2. more innovations and inventions





(I)
 
3. more natural resources became available (especially from the West)

(N)
 
4. more capital available (especially due to gold strikes)


(C)
III. Inventions and Innovations (Notes and Activity)

Think About:
1) Identify the effects that each invention/innovation had on society/business in the late 1800s.

2) Are any of these inventions and innovations still used today? If so, which one(s)?

3) Have any of these inventions or technologies led to the creation of any current technologies? If so, explain how. 
inventors/innovators
      invention/innovations
	PRIVATE
Alexander Graham Bell
	telephone

	Henry Bessemer
	steel production

	Melville Bissell
	carpet sweeper

	Granville Woods
	railroad induction telegraph

	William Seward Burroughs
	adding machine

	The Duryea brothers
	gasoline automobile

	George Eastman
	kodak camera

	Thomas Alva Edison
	incandescent bulb

	Carrie Everson
	metallurgy

	King C. Gillette
	safety razor/disposable blade

	Charles Goodyear
	rubber tires

	John Gorrie
	ice-making machine

	Herman Hollerith
	electric tabulating machine

	Amanda T. Jones
	vacuum canning

	William Kelly
	steel production

	Elijah McCoy
	engine lubricating cup

	Lewis Waterman
	fountain pen

	Elishu Otis
	safety elevator

	George Pullman
	sleeping car

	James Ritty
	cash register

	Christopher Scholes
	typewriter

	Henry W. Seely
	electric iron

	Isaac Merrit Singer
	sewing machine

	George Westinghouse
	air brakes

	Gustavas Swift
	refrigerated railroad cars

	Nikola Tesla
	alternating current electricity


IV. Economic Systems

A. Copy the chart on pages 714-715 of the old textbook (History of the United States). Use it to answer the following questions.



1. Identify the names of the three types of economic systems that are around in the world today.

- capitalism, socialism, Communism



2. Which economic system does the United States basically have?



- capitalism 
(theoretically)

V. Business Types (comparing characteristics and advantages/disadvantages of each)

A. Copy the chart from the overhead that compares the characteristics of proprietorships, partnerships, and 
corporations. 


B. Answer the following questions using the material from the chart that you copied from the overhead.
1. Which type of company has the greatest ability to raise large amounts of capital? Explain why this is true.

- corporation; it is the only type of company that can raise capital by selling stock on the stock 
  market; that allows potentially many thousands of people to fund it


2. a) What is limited liability?  



- an investor cannot lose more money than they invested; there is a limit to how much they can lose

    b) To which type of company does it apply? Hint: There is only one.



- only to a corporation
    c) Is this an advantage or disadvantage for the owners of that type of company? Please explain. 



- advantage; potential investors know the “worst-case” situation ahead of time (regarding losses); may make the 
  potential investor more comfortable about the risk, which could lead to an increased likelihood of investing
3. What is the only type of company that can sell stock?



- corporation

4. What are two other ways in which corporations can raise, or create, capital? Identify and describe them.



a)  sell bonds (I.O.U.’s/loans),  b) get loans from banks,  c) reinvest profits back into the company

VI. Business Combinations That Reduce Competition: The Move Towards Monopoly 

A. Situation (general situation):



Companies “A” and “B” are in the same industry and are competitors. Both companies would 
like to make more money but realize that the existence of competition between them is causing the 
retail prices of their products, and their profits, to fall. 


1. Pools (a loose promise between companies)

a. Solution:

To fix the problem of falling prices and profits, these supposedly competing companies 
decide to secretly agree to control the supply of the product and agree to share the profits 
the they make based on an agreed upon formula.



b. have been declared to be illegal by the fed. gov’t

      
2. Trusts [separate companies run by a group of people (board of trustees) as if they were one company]
a. much like pools, they are basically an alliance of companies working together, but not owned by each other, for the purpose of reducing competition between them.

b. tended to be more stable than pools because its setup made it more difficult for a company to leave

c. they are illegal today if they create monopolies

       
3. Holding Companies

a. created because some trusts were ordered to break up by the Sherman Antitrust Act of 1890; caused companies to find another way to reduce competition that was not yet illegal

b. whereas a trust controls but does not own stock in other companies, a holding company does own stock in other companies
c. its sole reason for existing is to own and control other companies as if they were one big company

d. The toughest of all for a member company to leave because, technically, it would need to buy its 
 shares back from holding company, which may not let it do

Question: Who was known as the “Father of Trusts?” 

VII. Horizontal and Vertical Integration

A. Be able to use reproduce the following diagrams, as well as explain the main ideas associated with each one.
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B. Answer the following questions using the above diagrams.



1. What are the advantages and disadvantages of integrating (expanding) vertically?

advantages




a. can reduce cost of production by not having to pay another company (a “middle man”) more to do it 




    than it actually costs to do it




b. can make a company more competitive because a reduction in production cost allows a company to 

    lower its retail price if it needs to do so (because of a price war with another company) and still make a 

    profit



2. disadvantages:




a. very expensive to purchase other companies in other industries




b. getting out of area of expertise (may not know how to effectively run businesses in other industries)

2. What are the advantages and disadvantages of integrating (expanding) horizontally?



advantages:




a. can gain larger market share (have more control more over the industry)




b. can increase the amount of product that can be produce and, therefore, can improve economies of scale




c. may be able to create monopoly (now illegal), which would allow your company to set prices and make




    tremendous profits

disadvantages:




a. it is very expensive to buy other companies (requires a lot of capital)




b. the company may become too big to run efficiently; sometimes bigger is not always better

3. What could eventually be created if a company continued to expand (integrate) horizontally with in its industry?


- a monopoly

VIII.   Economic Philosophies (Beliefs)

A. Describe the following economic philosophies (beliefs/ideas). Focus on the general idea, who generated the idea (if 


     identifiable), and how the concept relates to the rest of this unit.


1. laissez-faire:

a. definition: French phrase that translates to “to let [people] do [as they choose]”



b. stressed that the government must not interfere with private business, either by holding it back through

  
     
    regulation or by supporting it through subsidies




c. connection to unit: 




1. popular amongst big businessmen of the time because, if followed, would essentially allow them to gain 

 
    a tremendous amount of control over industry and the economy





a. Carnegie, Rockefeller, Morgan




2. would allow monopolies to form

2. Social Darwinism:

a. goals:




1. reinforce the idea of having laissez faire (argue that gov’t should not interfere with the 




    working of the economy)



b. main ideas:




1. its is okay for the strong (“fit”) companies and people in our economy and society to survive and grow 

    while the weak companies and people struggle and die = (“survival of the fittest = natural selection)




2. the gov’t should not do anything to stop or fix this situation

c. effects/connections to unit:




1. it makes it seem okay for people and companies to be ruthless when dealing with one another; 




    if you can become strong, no matter how you do it, you should be allowed to do it




2. makes it seem okay to create monopolies
3. Gospel of Wealth:

a. based on Social Darwinism



b. central ideas of the Gospel




1. the practice of Social Darwinism (“survival of the fittest”); the “most fit” business leaders 




    should run the economy



2. the control of wealth obliged (gave responsibility to) the rich to try to solve the problems of society 





a. rich people should give away their wealth in a way which will benefit society 

1. (Carnegie: “The man who dies rich, dies thus disgraced.”)


c. connection to unit:




1. Carnegie, Rockefeller practiced it; they became philanthropists (gave away their money)





a. Carnegie - libraries, Carnegie Hall, etc.






1. gave away 90% of wealth





b. Rockefeller - Rockefeller Square, Williamsburg, ect.






1. gave away 50% 




2. some people tried to justify their questionable actions by “doing something good” with their money
IX. Business Leaders: Captains of Industry or Robber Barons?


A. Use the information from your textbook and our class discussions to write down the most important information about the 

     following individuals. Identify the industries in which they were involved, their accomplishments, and their overall 

     significance.


1. Andrew Carnegie –



a. created one of the largest steel companies in U.S 



b. practiced the use of horizontal and vertical integration. 



c. used some unfair business practices



d. was greedy for the first half of his life, but devoted the last few decades of his life to giving 


   

    away very large part of his fortune (philanthropist) 



e. made use of the Bessemer and the open hearth processes and newer innovations in his steel plants



f. came up with the Gospel of Wealth (he wrote an essay with the similar title called “Wealth”)


2. John Rockefeller –

a. ruthless in his business practices (bribery, monopolies, etc.)



b. practiced horizontal and vertical integration to make his company more efficient, competitive, and stronger



c. created one of the first trusts (Standard Oil) which, at one point, controlled 90% of the nation’s oil refineries = 

    monopoly



d. richest American ever (worth about $244 billion in today’s money) 



e. he was a philanthropist who gave away exactly 1/2 of his money to society



f. his company was eventually attacked by the government (and broken up) with the use of the Sherman Antitrust 

  Act


1. that same law was used to attack Microsoft almost 90 years later


3. J.P. Morgan –



a. big banker 



b. provided money to companies to form trusts and monopolies




1. created the first billion dollar company ever by buying Carnegie’s steel company and consolidating it 

    with other companies



c. hated competition



d. called the “Father of Trusts”



e. his companies and their actions were partially the reason why the government began to become more concerned 

   with monopolies

1. led to tougher antitrust laws

B. Why were these, as well as other, capitalists described as both “Captains of Industry” and “Robber Barons”? 

“Captain of Industry” - a positive nickname/term used to describe the industrial leaders of the late 19th and




          early 20th centuries; used to describe people considered to be leaders and innovators in industry and, 

          as well, possibly society; people to be admired


“Robber Baron” - a negative nickname/term used to describe the industrial leaders of the late 19th and early




 20th centuries; used to describe people considered to be immoral and unscrupulous - people who would do 

 anything (lie, cheat, steal, spy, etc.) to get ahead in business; seen as having an overall negative effect on 

 society

X. Attitudes and Feelings Toward Monopolies
A. Use your textbook, as well as information from class discussion and lectures to answer the following questions.



1. How did an ever-larger number of people within the U.S. Government view the growth of monopolies in the U.S. 

    economy? How did they (or the government) respond? Again, be specific.

Consumers and the government tended not to like monopolies.




- consumers disliked the possible, or real, increase in prices and lack of quality and selection




- government was pressured by the public to regulate businesses in the interest of the people




- government efforts to stop/regulate monopolies:





- Interstate Commerce Act (and Commission);





- Sherman Antitrust Act;





- Clayton Antitrust Act.

XI. Government Actions That Interfered With A Laissez-Faire Economy

A. Identify and describe what the following things were, why they were created, and what their effects were.



1. Morrill Tariff:

- passed in 1861 to help businesses during Civil War; very high tariffs increased during war;



- generated so much money for govt. that it did not need to charge businesses or people income taxes;




- allowed businesses to grow because that money could be reinvested back into business instead of being 

  paid to the government; people also had more $ to spend 




- protected U.S. companies from foreign competition


2. National Banking Act:



- money and banking system was unstable because 1,500 state banks printed 7,000 different bank notes




- value of notes fluctuated greatly and people and businesses did not always trust the money; led to less 

 
   business being done



- Act led to creation of National Bank Notes; this created a standardized money that was used everywhere in U.S.



- led to more business activity across the country because banks were seen as being more stable and people found it 

  easier to use money



3. Morrill Act of 1862:



- federal govt. gave land to states to create public colleges that focused especially on agricultural and mechanical 

  arts (engineering)



- led to important research and development that aided agriculture and industry (new inventions, processes, 

   materials, etc.)



- helped the U.S. workforce become one of the most educated ones in the world



- led to more business and economic growth



4. Interstate Commerce Act/Interstate Commerce Commission:

- created by Congress to help it to control the railroads 



- created a commission that was supposed to make sure railroads charged “reasonable and just” rates




- very ineffective (govt. won only 1 of 16 court cases against railroads between 1887-1905)



- did lead to stronger laws in the future


5. Sherman Antitrust Act of 1890:

- created to stop corporations from creating monopolies that “operated in the restraint of trade” (held-back 

   trade/business activity)



- ineffective early on because the law’s language was too vague (not written well)



- was used to break-up Standard Oil in 1911



- led to better laws in the future (Clayton Antitrust) 

6. subsidies:



- payment by governments to support businesses;



- free factory sites, tax breaks, payments for each item produced, etc.;



- railroads benefited the most from these back then (got land with tremendous amounts of resources that the 

  companies could develop or sell);



- subsidies are still used today (ex. dairy farmers may get a few cents per gallon from the govt. to help them with 

  their production costs; meant to make them able to lower retail price against foreign dairy farmers)

BIG CONCEPTS/IDEAS WORTH REMEMBERING – BIG BUSINESS & INDUSTRY:

1.


2.


3.


4.


5.

LABOR AND UNIONS:
GIVING WORKERS “STRENGTH IN NUMBERS”

I.  Changes in Employment and Living: 
A. Skilled workers were forced to give up their crafts, as well as their pride in their work, when big   

business and industry replaced the self-employed skilled artisan in the mid-to-late 1800s.

B. Changes the “typical” skilled worker faced as a result of the Second Industrial Revolution:

1. no longer his own boss; worked for others at monotonous mechanized job; could be replaced by any unskilled worker 

2. workers no longer knew their bosses; often rich owners never met or associated with their employees; this prevented the formation of a “common bond” between them, which resulted in the inability of the employer to relate to the suffering of the workers

3. employers cut wages whenever possible to reduce production costs; this was made necessary because of intense competition between companies




a. workers had difficulty surviving on meager pay




b. average weekly wages of common workers less than $9 in 1890s 

4.   workers were powerless to protest these actions (because they were easily replaced by the 

      surplus of available workers)

5. most workers worked 10-hour days, 6 days a week (in steel and other industries it was often longer)



6.   accidents and deaths were common due to poor ventilation, lighting, dust and fumes

II.  Problems Preventing Organization of Labor:

A. workers had trouble working together to improve their situation because of their differences in race and color, where they lived, philosophy, concepts of organization, style of protest, and national origin (countries they came from)
1. immigrants were looked upon by natives as job stealers 

B.  workers could not agree on how to improve their situation as a result of their initial inability to overcome these differences.

III. “Goals and Weapons of Management and Labor” 
A. Management:

1. Goals/desires



a. achieve greatest profits possible through most efficient use of materials and labor (workers)



2. Weapons (tools/methods) To Be Used Against Unions




a. “yellow-dog” contract




b. blacklist




c. injunction




d. open shop




e. company police (Pinkerton Detectives) and company spies 




f. use of strikebreakers (“scabs”) to fill the jobs of strikers


B. Labor:



1. Goals/desires



a. creation of federal and state bureaus of labor



b. an end to child labor
 




c. the end of contract labor



d. recognition by employer of the right of workers to use collective bargaining



e. compulsory (forced) arbitration of management-labor disputes



f. laws that provided for worker compensation 
a.



2. Weapons (tools/methods to use against management):




a. the strike

 


b. picketing

 


c. the boycott

 


d. the closed shop



3. Reasons Why Leaders of Labor Unions Were Less Successful Than Management in 

    Mobilizing (organizing) Their Forces


In their attempts to get the workers of the nation to join together into a united and class-

conscious group, the labor leaders had to deal with the following problems:


a. entrance of blacks, both skilled and unskilled, into the labor force after the Civil War (led to 

    discrimination)

 


b. presence of many poorly paid women in certain crafts 

 


c. an increase in the number of foreign-born workers, divided by language, religion, and national tradition

 


d. the activities of radicals who had big ideas about changing  society while having no realistic plans for 

    achieving those plans

Note: This last section basically describes some of the problems outlined in Part II of this 

          packet.

IV. Major Unions: 


A. NLU (National Labor Union- formed 1866)



1. Who  Could Join?

    


- farmers, industrial workers, skilled workers



2. Main Ideas/Goals?

       


- elimination of monopoly

        


- create fed. dept. of labor

       


- abolition of contract labor

     


- arbitration in labor conflicts

       


- laws for 8 hr. workday



3. Preferred Methods of Action?




- use politics to achieve goals (supported National Labor Reform Party, but it did poorly)

        


- urged cooperatives rather than strikes

       


- power decreased after loss of 1872 presidential election


B. Knights of Labor (formed 1869) (**definitely know this one)


1. Who Could Join?
-        




- both skilled and unskilled workers, blacks and women
        






2. Main Ideas/Goals?
- 8 hr. workday
-       




- equal pay for men and women
        




- abolition of child labor under 14
        







- arbitration in labor disputes
 (have someone come in to help settle the disagreement)




- create fed. and state bureau of labor statistics 
       




- force employers to pay on weekly basis
       




     


- passage of income tax
      


- government ownership of railroads and telegraph lines


3. preferred Methods of Action?
- use politics rather than strikes (at first)
- used strikes and boycotts more often later on
- not very effective politically
 
4. destroyed by violence associated with the Haymarket Riot of 1886 (see McCormick Harvester Strike)

C. American Federation of Labor (formed 1886)  (**definitely know this one)



1. Who Could Join?
- only skilled workers belonging to particular crafts/trades (machinists, carpenters, plumbers, etc.)





- skilled workers in the same factory would belong to different national unions, all of which could belong to 




  the AFL
 
2. Main Ideas/Goals?
- first, the objectives were very similar to the KOL’s
- later focused more on “bread and butter” issues (get better hours, wages & working conditions)
- restriction of immigrants
 
3. Preferred Methods of Action?
- strike
, boycott
, collective bargaining
4. This organization still exists today.


D. Industrial Workers of the World (IWW – formed 1905)

1. Who Could Join?
- appealed mainly to migratory (traveling) workers in lumber, miners, harvest fields, etc.
 

2.  Main Ideas/Goals?
- sought to bring all workers of nation into a single industrial union





- sought to overthrow the capitalist system (extremist/radical) and replace it with a socialist one (a very 

  radical idea) 



 
3.  Preferred Methods of Action?
-direct action (the mass strike and sabotage)
 
4. many leaders of the union were jailed in 1918 by the federal government for their opposition to U.S. entry into 

    WWI
5. by mid-1920’s, membership had dropped from a high of 60,000 to almost nothing

V.  Opposition to Unions:

a) Many business leaders were against labor unions. What arguments did they make to support their position?



- Unions went against the principle of free enterprise (e.g. capitalism). 
b)   What did they (business leaders) believe should be the thing that determines the wages of workers?



- The supply of, and the demand for, workers should determine the wages of workers. Unions, claimed business 

   leaders, were trying to “monopolize” the supply of workers in order to drive up wages (source: old textbook, pp. 

   186).

c)   For the most part, which side did the American public side with during labor disputes: labor unions or business leaders? 

      Why?

- The American public, as well as the government, usually sided with employers during this time. 



- Many people believed that workers had a right to charge the employer whatever the market (economy) would 

   allow them to get, and that unions should not tell workers or businesses what to do. 



- The public also disliked the inconvenience and hardships created by the strikes. Finally, the public became 

  concerned that the labor disputes would lead to anarchy and violence. 
VI.  Major Strikes: 
a) What things did workers/union members/strikers want most?  

They wanted better wages, hours, and working conditions (the “bread and butter issues”), in addition to more respect 

 from their employers.

b) In a detailed manner, explain the necessity of forming labor unions during this time in American history.



Individual workers did not have the ability to force an employer to give them better hours, wages, and working 

conditions because it was relatively easy to replace workers, especially unskilled workers. This was because there 

were more workers available ( a surplus) than there were jobs. Quite simply, the supply-demand relationship 

regarding the supply of workers and the demand for them favored employers because they could pick who they wanted to work for them.

Uniting workers into a labor union gave workers more strength than they had on their own because it is much more 

difficult to replace 50, 100, or even 1000’s of striking workers. Going on strike allowed the workers to artificially 

change the natural supply-demand relationship into their favor because it suddenly reduced the supply of available 



workers, which made it more difficult to replace them.
c) Explain the concept of “strength in numbers.”  Note: This is the most important concept regarding the study of unions!



Quite simply, it is tougher to replace many united workers who have the same goal and who can go on strike than it 

is to replace one or two workers. Workers have more strength (power) to get what they want from an employer when they are united in large numbers. Why? Because they can threaten to financially damage a company by going on strike. The hope is that the employer will see that it might be cheaper in the long-run to give into a union’s demands than it would be to try to survive a long strike.

d) Identify and explain the relationship between labor unions and violence at this time.

Quite a few of the strikes of the late 1880’s to the  early 1900’s involved violence between workers/unions and 

employers. 

 



Examples:
- Railroad Strike of 1877 (see pp. 186-187)
- McCormick Harvester Strike/Haymarket Riot 
of 1886 (pp. 184)
- Homestead Strike of 1892 (pp. 187)
- Pullman Strike of 1894 (pp. 188)
This often resulted in the public and the government moving its support more towards that of the employers.

e) Historical Examples of Strikes:
1. McCormick Harvester Strike (1886 - Chicago)
a. strikers on strike for 8-hour day; they attacked “scabs, which caused police to shoot them





1. several strikers were killed and injured




b. anarchists (radical people who don’t believe in government) protested killings at Haymarket Square





1. police were killed by a bomb while trying to break-up the rally





2. destroyed public support for the Knights of Labor, who were blamed, even though they 





    were not directly involved

2. Homestead Strike (1892 - Pennsylvania)




a. steelworkers working 12-hour days, 6 days a week went on strike when wages were cut, but living 

    


    expenses in company town were not





b. steel plant manager hired Pinkerton detectives to break-up strike




c. striking workers and detectives clashed, with detectives losing (people were killed)



d. state militia brought in to break strike




e. effects: strike failed and ended union activity in steel industry for decades

3.  Pullman Strike (1894 - Pullman, Illinois)



a. wages cut 25-40%, but prices in company town not




b. railroad workers went on strike and refused to move trains with Pullman cars 




c. movements of goods and mail became virtually non-existent




d. injunction issued by federal court to stop strike, but it was ignored by the workers




e. President sent in federal troops to break strike




f.  violence erupted, property destroyed and union leader jailed 




g. effects: labor felt very weak after this failure, but the fight to organize was just beginning

 
VII. Collective Bargaining:

(a) What is it?



Direct talks between union officials and employers. 

(b) What is its purpose/goal?  

To bargain, or negotiate, an agreement about wages, hours and working conditions that is hopefully acceptable to 

both sides. It requires compromise, that is, for each side to be willing to give a little in order to gain a little. It is either done before a union contract expires in the attempt to prevent a strike, or it may be done during a strike to bring about the end of it.
(c) Who is involved?  

Union representatives (for the workers) and the employers. Each side can also bring lawyers to help them.

VIII. The Effects of Labor Unions and the Labor Movement:

a) Does the average worker today, from what you understand about today’s working environment, have 

      better or worse working conditions/wages/benefits than workers of the late 1800s and early 1900s? 

      Explain with specific information.



- Yes – workers today tend to “have it better” than did 
workers of the past. 
 
- Most workers work 40 or so hours a week instead of 60-72 
 (Fair Labor Standards Act of 1938).
 
- Most workers can get overtime pay if they work beyond 
the normal workweek, whereas before they did not.  
   

   
   Overtime pay is at least “time-and-a-half” (Fair Labor 
Standards Act of 1938).
 
- There are minimum wage laws today whereas there were 
not before (Fair Labor Standards Act of 1938).
 




- Certain safety standards are required in the workplace, as 
stated in federal law (Fair Labor Standards Act of 1938).



- The right to organize unions and to engage in collective 
bargaining has been achieved (Wagner Act of 1935 – 

   a.k.a. “National Labor Relations Act). This led to a dramatic increase in union membership levels (from 3.5 

   million in 1935 to 15 million in 1947). This marked a reversal in the government’s position and attitude towards 

   labor unions.
 
- Getting extras, like retirement/pension plans, health benefits, and paid vacation have also become more common 

   goals of labor unions.
MOST OF THESE THINGS WOULD NOT EXIST TODAY IF LABOR UNIONS HAD NOT WORKED, OVER A 
LONG PERIOD OF TIME, TO FORCE EMPLOYERS AND THE GOVERNMENT TO PROVIDE THEM.

b) What does that probably mean regarding the effectiveness of labor unions and the labor movement during the past 150 years. Explain.

Labor unions have been somewhat effective, but it has taken many decades, and many mistakes, losses, and small 

victories to do this.
c)
What have been the long-term positive effects of labor unions? 



- See the answer for part “a.”
      
       Long-term negative effects?



- inconvenience for the public if some workers strike
- increased prices of products because the cost of increased wages and benefits is often passed-on to the consumer



- some people had to die to get these things to happen
- local businesses can suffer when workers are on strike, largely due to a lack/decreased amount of money being 

  spent by striking workers
d)   Do you see yourself ever joining a labor union? Why or why not? Does your intended future profession even have one?

IX.  Overall Unit Conclusion: 


A. BIG CONCEPTS/IDEAS WORTH REMEMBERING – LABOR UNIONS:



1.



2.



3.



4.



5.

B. What have been the long-term effects of industrialization and the rise of labor unions on the United States and its 
            citizens, including yourself? Be as specific and complete in your response as possible.
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